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Arrange the following in ascending order :-
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The three sides AB, BC and CA of a triangle IT_Ocm %cm
5 2 7 .
AABC are E('m. 3om and Tocm respectively.
Find the perimeter of the triangle. A - o B
6
Fractions and Decimals 23

2 4
Ramesh studies for 5‘; hours daily. He devotes 275- hours of his time for science and

mathematics. How much time does he devotes for other subjects ?

2 1
Sonia jogs once around the rectangular park of sides 105 m and IZEm. Find the total

distance covered by the Sonia.
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Ritu coloured a picture in - hours. Vaibhav coloured the same picture in 1 hours. Who

worked for a longer time and by what fraction ?

Multiple Choice Questions :

» peceies 2 7
(1) ractions 53 are
(a) Like fractions (b)  Unlike fractions
(¢) Equivalent fractions (d) None of these

(i)  What fraction do 8 hours of a day represents
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(iify Equivalent fraction of 5 LR
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(iv) Shaded area of given triangle represents the fraction
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(c) 2 (d) 3
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(v)  Sum of fractions 7 and 1 equal to :
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